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o GIaTgT eTaTLSEE FLINTESIS

Sileysonsst : (1) Siemsg darsseanh #f wrs udleurd
seimarefrumentlLb

Qarerareyth. FstiLded @opdminddar siens
o 1_amqungd Gsfeldaal.

2) Beon was sply @odaa ol GG TggashEn uwamuBss
Caam@l. ULBFET a@raughGD. e 5CaTy Geugh@n Cuddla

LweaTUREEe L.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2] Use Blue or Black ink to write and underline and pencil to draw

diagrams.

u@A - 1/PART - 1
@By ;i) Simend g e TESEnEGID eflenwaflEseyd. 15x1=15

(i) Qarpasiul Harer wipp dosale Waa b goye w eloLmwus
Caipea®s5s @ENSLGL eflomLloayn Cafss) musaub.

Note : {if Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1. DNA sadlen @Lompmid Hmende erarat Quini 9
() @amiyren (<2,) Qrasren
(@) Advlpmen (F) wyrersvGursmer
DNA element, which has ability to change its position is called :
(a) Intron (b)  Recon

{c) Cistron (d) Transposon

2. aueTiuy em 6580 emass aeiéss Caamaliu@h srars & :

(=) sEaG () Gawev (&) prdme () flengy
The selected tissue to establish a new plant in a culture medium :

(a) Embryoid (b) Callus {c) Plantlets (d} Explant

3. Qsr_&ss GHlwen eremug)
(=) AUG () UUU (@) UVAG () UGA

Initiation codon is :

(a) AUG (b) UUU (c) UAG (d UGA



3 5932

STETTE auetiliL) ubil (Neiraimih Eenammens Cnnhas.
'! L E q (f}r Eht

(1) encusCaredlar yara| (i) 20 Glaaf

(2) QargdsEnddam Guuira g (i) 75 - 85%

3] epa Asiun Gurg sramean (i) 2 -4 SIBIFELD

@eoLuller arey
(4)  mrousD livi 10 - 12 Qa.f.

(1) (1)-(id), (2)-Gv), (3)-1), (4)-00)
(<) (1)-Gid), (2)-(v), (3)-10), (4)-Gii)

(@) (1)-tiv), (2)-(), (3)-(i), (4)-()

() (1)-Gd), (2)-), (3)-(iv), (4)-(i)

Match the following about mushroom cultivation.
(i 20cm

(1) Straw size
(ii) 75-85%

{2) Distance between blocks
(3] Cap size at harvesting (iii) 2 - 4 inch
{iv) 10-12cm

(4} Relative humidity

(@) (1)-(), (2)-(iv), (3)-(0), (4)-(i)
(b)  (1)-Gid), (2)-v), (3)-(), (4)-(i)
(c) (1)-(iv), (2)-(idd), (3)-(ii), (4)-G3)
(d) (1)-(i), (2)-(0), (3)-(iv), (#)-{)

samée g AnELd ueHldmps GE0s0ss0uHD Cprd -
(1) Qrav_fsagen CQprsl (<2) DNA anaCaeiv
(@) QanelGsey (FF) pevsenaer Limee.LGLev
The enzyme which is purified from calf intestine :

(a) Restriction enzymes (b) DNA ligase

(c) Helicase (d) Alkaline phosphatase
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6. araupmsalc @alaGandaasa, 1l (0w LeLMESu@D @flw gafl ety

()3 - 10% (<o4,) 2 - 8%

(@) 2-0% () 2 - 10%

Solar energy used by preen plants for only photosynthesis is :
(a} 3 -10% (b) 2-8%

) 2-9% d) 2-10%

7. ydl QailuwwonsgEEs srramonear 14% LHmD 60% uFMLD G "-"‘-'””4“"%5@

weptuw :
(t) CH, b CO, () N,0 ibgid €O,
(&) CH, whgwb CFC (rF) CFC wpmid CO,

One greenhouse gas contributes 14% of total global warming and another contributes
60%. These are respectively identified as

{a) CH,4 and Co, (b) N,0 and CO,
(c) CH, and CFC (d) CFC and CO,

8. @pfovdud usfowsala sfiurer wflms smoideons b nis
Cuoaflamabe aflesiubss smonssab.
(=1) Gpwb — G warrLab — Hoslsmmob — s Winb
(=) sefl 2lflanh — 2 WIAGAsTms —» PasCammnd — G waT b
(@) 2fsbgmens — 2 wifland — 2 ufiob — FesCsmbmb
() PogGsmhpb — @G waTLmb — 2 ulinn - 2 lisECsremnd
Arrange the correct sequence of ecological hierarchy starting from lower to higher
level.
(a) Community — Ecosystem — Landscape — Biome.
(b) Individual Organism — Population — Landscape — Ecosystem.,
(c) Population — Organism — Biome — Landscape.

(d) Landscape — Ecosystem — Biome — Biosphere.
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11.

epmetlangd sneupmaalid epen Gl sg sragsdarn (pso AL
(=) 2 la(m (e} mias el g,

@ peafeo soae S () Cumelss

The first cell of male pametophyte in angiosperm is

[a}) Nucleus by Microspore

(¢]  Primary Endosperm nucleus (d} Megaspore

pBR 322, BR eranug)

(=) Qerramdll Cumallent 1oL Grm_flEen
() tlermeudl - ur&iefly nq) s iganarey
(@) Gemmaz A uran Gwiir whmb Bymiflée
(7) Wenmendll urdtefiu Quipdsib

pBR 322, BR stands for :

{a) Plasmid Boliver and Rodriguez

{b) Plasmid Bacterial Recombination

(¢} Plasmid Baltimore and Radriguez

{d) Plasmid Bacterial Replication

i e uldflens am EALAlL GLgdd oeobs sz valdloean Heudu@sgd

Gpflons CenEuy

(<=1) FlavgGarppid () yedl aumfiLd

(@) 2ufliod () Gewd aurdl b

A specific place in an ecosystem, where an organism lives and performs its function
is :

{a) landscape (b) habitat

{c) biome (d) niche

[ Hsligs / Turn over
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12, @mim neonen (e eifengndenaie » fluy gaifien (ia |
(=54 ) Lidena rf«hz‘.; W ey (*"?.“J’ (earerenin ;{-.];,.1_.:_r:,||'|‘::-ﬂ-:-l.‘
) G eflanaienes () summidlur aflensifleanm
The reerssive 1rait 1o the dominnnt trait of vellow colyledon is ¢
(al  Green cotyvledon (b}  White colyledan

(el Axial cotvledon () Wrinkled catyledon

13, eflengya ::gii\.rl.mi\[ﬁwm..i) eI MLI(HILh a(pbLy

(=) alengldena Edga(H (<) efeng o dreseny
= g e .
(8] eflensdspiby () wpenerGaurt

The scar left by funiculus in the seed is ¢
{al  Epicotyl (b) Tegmen
{c)] Hilum (d) Radicle

14. Zpssar_cupflo oy Gpdwadr s 2u9rpn s S ?

(=) &flod samaen (<2p,) Lrdte Ak ser
(&) safvé sapyamer (/) @l Qummlsar

Which of the following is not a abiotic component of the ecosystem ?
{a) Organic compounds (b) Bacteria

{¢) Inorganic compounds (d} Humus

15. gGr Greg sraurmsEnsdor Gu saly Qadag Tl D LEHSL)
dlms).
(<=1) @Cr Glrasdln@ar dai (<) Sl dlembiagnéHen G &Ly

C
D]

(@) CulemserédlaLCu souy () GratisansdaCu &aliLy
Crosses between the plants of the same variety are called :

{a) intravarietal [b) interspecific

(e) intergeneric (d) intervarietal
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L@$) - 11/PART - 11

@Dﬁ‘m: siemeuGuien b <Zhml iﬁwré&@et@ ol Hib e welldsalb. efarm orahm
24-8@ slLmuwns ¢ o _uefdman. 6x2=12

Note i Answer any six of {he following, Question number 24 is compulsory.

16. @E@GLISSWD T eregr 7

What is endothelium ?

17. Gengevand meiy CTENMITE aTeiem

Define Test Cross,

18. TATA Gueny srépméd eremar 7

What is TATA box ?

19. wrugy Gurfluluele vwauBssiudn Anrdseldar Guuisamer epss.

Name the enzymes used in Genetic Engineering.

20. sma|lb WILUGYSSHET eTEM DT GTedan 7

What are jumping genes ?

21. o amreyEemSlell erammme Greten ?

What is Food Chain ?

22, Gg&.eﬁsh LILGETEGNET ST(LHS)&.

Write the uses of Teak Woad.

[ gsliys / Turn over



5932 "

23. &l ,_;:l LA lemm oD "‘“':‘UTHH:.‘ T ehian 7

What is Co-evolution

24, estte - cuannu NS ID.
Define ovbuid.
L@ - TI/PART - TII

GPOY : ameGugd sm elamrésnag Ll Hn o welsaab. e e

33-a slLmnuwnns alalwalésoyb. 6x3=18

Note : Answer any six of the following. Question number 33 is compulsory.

25. gm sradissLgdaw aeeunm eyepLumenh sramuri ?

How will vou identify a vector ?

26. Bleer grigssananin eranpmd cranar ? Gir arsHssm [H SHs.

What 1s co-dominance ? Give an example.

27. amuenuwlian enwlenUll ULLD euenfhg UMSh GildseLb.

Draw and label the structure of Embryo sac.

28. paaflow siflpsludsasaayd Grarimdhleaa uflwsiudsssmeaub
Canu®ss)s.

Differentiate primary introduction from secondary introduction,

29. Glaull SBEF@IDGY eTarpTd eTemar 7 Sigen emsamard GG Ha.

What is thermal stratification ? Mention their tvpes,
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30. aflgpany cuartdlilen uCGoun Baaada £Gp Car@Es0ulHerarg. simma
weepliug auflasiiu®bgs.
premp egly How, sray Wisma 2 ulfl fleow, ysTlsy flew, Haper
wipdw greuy Hee, sr@ flow, fmer wppd Aga@n o, gy yadeua
Hlana.
Various stages of succession are given below. From that rearrange them
accordingly.

Reed-swamp stage, phytoplankton stage, shrub stage, submerged plant stage,
forest stage, submerged free floaling stage, marsh meadow stage.

31. aTiuer aufiGsL 1D eTempre) eTenen ?

What is carbon footprint ?

32. @EHSE whmd GHSLHD Geny - Capupsss.

Differentiate coding and non-coding strand.

33. memapudt BES0 TenpTeD EreTaT ? QUETITLIL Sieoneni eréueunry mamrguwili Fésn
Qeauml ?

Define sterilization. How will you sterilize a culture room ?

U@ - IV/PART - IV
@Y : Semengg elamssEns@in oflmwafldsab. 5x5=25
Note : Answer all the questions.
34, (i) LS LD eranpmed arevan ? Sigan euensseT WHMID LerllEmaT ar(pss.
ENEVEY
(=) pennwhn erGssaemomy TRFgEaT (Lda dadzs.
(a) What is tapetum ? Write its types and function.

OR

{b) Explain Incomplete Dominance with an example.

@ | Slgsliye / Turn over
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35. (=) mpo&Cappl aarpra arata ? GmsCappsHer Gewedpap cflarrés &

LiLgHemen euanra.
S G|
(<) sl Qacd YysLh eremmiel aratian ? SiBem LwWeTUTHGEemaT (PSS

(a) What is crossing over ? Give the diagrammatic representation of crossing

over.

OR

(b) What is single cell protein ? Write its applications.

36. (=) sraur S5 aeriiGe) e mdyaer ool s Qardamssmen ilaéEs.
Sleveog!
(1) 88 Simwe] SyluaL e aupar. Haossme ph&Eeflen auens S aneT
THsHSETLBHEELa ellaTdGs.
(a) Explain the basic concepts involved in plant tissue culture.
OR

(b) Explain the different types ol xerophytes based on their adaptive characters
with examples.

37. () GR® bar sl cumssmar THFgIEFTLRSETL Ul qpuadl{s,
{6060 &)
(=) drasvdarg sfle e ss1srrl Urésoa. soss Siés s wura
afapenman ST lbg eflordes.
(a) List out the types of Ecosystem with examples.
OR

{b) Non-liquid wastes cause health problems. Give a solution to manage the

same.
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38. (=) peliar aflas oLy pespaaar oilaméms.

TNV
(-—%)&‘Lbﬁa%ﬂ@um sreurhsalan WmbsTaEU LU UGS sener b B EeT
DHESHIUN LLETE@ETLD € 1pHS.
() g
(i)  Qpeed
i) EUeuGueai
(iv) efevaub
x) Qremen
(a) Explain the modern methods of seed storage.
OR
(b) Tabulate the plant parts and its medicinal use of the following :
(il Holy basil
(ii) Indian gooseberry
(iii} Indian acalypha
(iv] Vilvam

(v) Veldt grape
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